CS 325 Quiz 6, 3/30/09
1. True or false. If a rule has a name, give it.

a. A ( B and C ( B  imply A ( C

b. A ( B and B ( B  imply A ( C

c. A ( A 




T,  reflexive
d. A ( B implies B ( A

e. A ( B implies AC ( BC

T, augmentation
f. A ( B and B ( C  imply A ( C
T, transitivity

2. Use Armstrong's axioms to prove the union rule: A ( B and A ( C  imply A ( BC 

1.    A → B

(given)

      2.    AC → BC
(1 + augmentation)

3.    A → C

(given)

      4.    A → AC
(3 + augmentation with A)

      5.    A → BC
( 2, 4, + transitivity)

 For 3 - 5 assume  the schema R = (A,B,C,D, E, F) and  functional dependencies  A ( BD,  B  ( C, E (F

3. Find A+ 

ABCD

4. Find a candidate key for R  AE
5.  Which of the following functional dependencies are implied by the above?  Prove one of them.

a. A ( B

true by A-> BD and decomposition
b. B  ( A 

c. A  ( C  
true by  A → B  (proved in a.)
                                               B → C  (given)

                                               A → C  (transitivity)    
